Sensors

Mating Cordsets
4 and 5-Pin eurofast ® Field Wireable
Right Angle/ Right Angle/
Application Specifications Straight/Female Female Straight/Male Male
Mates with standard llé57VA(é|/ ! ?OnXDC’ 3.0A
key 4-pin cordsets and cable gand, B 8141-0 B 8241-0 BS 8141-0 BS 8241-0
accepts 4-6 mm cable
receptacles .
Screw terminals
Mates with standard ioc\é/\ciéé(; l\eir?o(lz, 30A
key 5-pin cordsets and gland, B 8151-0 B 8251-0 BS 8151-0 BS 8251-0
accepts 4-8 mm cable
receptacles .
Screw terminals
B 814(5)1-0 BS 814(5)1-0

2126 [54.0]____ 4777 [19.6] 2402 [61.0]___ 4772 [19.6]
APPROX APPROX ’ :
i _

M12x1 M12x1

71 —

Female Connector Male Connector
B 824(5)1-0 BS 824(5)1-0
1. .
372E[F?5 0] _{¢.772 [19.6] 1651 E[F41.9] 0.772 [19.6]
M12x1 M12x1
1.574 [40.0] _f 1,574

APPROX

Female Connector

Male Connector

Pinouts
Female Male
4 5 4
2 2
4-Pin 5-Pin

K13



Industrial -l-un”%‘(
AutomatiOn Industrial

Automation

1.260 [32.0] 8.404 [10.2] 1.366 [34.7] 0.354 [90
N\ ;m% LOCKING ‘-l I__D 2 3-Pin picofast ®
y — SR Ak Cordset
\% % Tt Standard Plug Body
125 VACVDC, 4 A

3-Pin
Application Part Number Cable Specifications Pinout
3/24 AWG 1. BN
PKG 3Z-* Yellow PVC 3. BU
105°C 4. BK
3-Wire picofast 4.4 mm OD :
Snap Lock Connection
CSA Certified 3/24 AWG 1. BN
PKG 3Z-*/S90 Black PUR 3. BU
80°C 4. BK
4.4 mm OD )
e o
PKG 3M-* clow 3. Bu
105°C 4. Bk
3-Wire picofast 4.4 mm OD :
Threaded Connection
CSA Certified 3/24 AWG 1. Bn
PKG 3M-*/S90 Black PUR 3. Bu
80°C 4. Bk
4.4 mm OD )
Pinouts
Female
1 3
4
3-Pin

K14

Cords - Acc



FEMALE FIN-0UT

- END WIE'W

SPECIFICATIOMNE

HOUZIMG MATERIAL SPLATIMG P BLACE

COMTACT MATERIALAFPLATING MICKEL FPLATED ERFASS
COUPLIMNG MUT MATERIALASFLATIHG FET

FAaTED CUREENWT LAl a0 A

FaTED “OLTALGE %] 125

HaXIMUM 'WIRE S1ZE 1B AWD

CABLE GRIF R&RGE 4-8 mm

TEMPERATLIRE RATIMNG

-A0C ta +85°C (-40°F +o +1BSF)

FROTECTIOW CLALSS

MEETS MEM& 1,2.4.6,l3 anD IEC IPE?

SPACIMGE [WDE 0110 kbl

125 wAC/s150 WIC, G, C

c.lce
il
4.0 }
IS
551 . H E m.?&ﬂ
40 & T — 19.5
=L B .
M1 f
fuateri IRD AHCLE PROJECTION
WLOEREERE DRan
e fOR!
forrr UM% [oatE 10/%095 | PART NODESCR
losen 8 B_8141_D
S7E | 0 MO, REW
A [SEE PEVISION DOCUMENT U545 JME[10/9/95 TI416 [ oensoe s | A L6245 Fa
REV | DESCRIPTION ORFT|  OwWlE EZ0 H, IMCHES
RS [MILLIMETERS] scae NOME| EURSF W LUES4S SHEET  OF






